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Hence find the greatest number of machines he can buy.

2. A factory produces fridges and freezers. In any given week at most 200 of these
" products cin be produced. Regular customers must be supplied with at least 20

fridges and 50 freezers per week
Write down three inequalities to illustrate these constraints and then graph the

inequalities.
If the profit on a fridge is IRE40 and the profit on a freezer is IR£50, how many
of cach should be produced to maximize profits.

3. A hotel carpark is 360 m*. The parking area required for a car is 6m’ and for a
bus 24m”. Not more than 30 vehicles could be accommodated at any given time.
If x is the number of cars and y is the number of buses to be accommodated,

write down two inequalities in x and y to illustrate these constraints.

I there is a daily parking charge of IR£1 per car and IR£3 per bus, how many o
each should be parked to give maximum daily income, and state this income.

A cabinet maker assembles chairs and tables. It takes him 4 hours to assemble a
chair and 8 hours to assemble a table, and he works 40 hours per week.
To satisfy customers he has to produce 2 chairs and 2 tables each week.

(i) Write down the three inequalities and illustrate them on a graph.
(ii) If his profit on a chair is IR£15 and his profit on a table is IR£35, how many
of each should he assemble cach week so as to maximize his profits?

5. A crystal glass factory produces two types of bowl, 4 and B. Each bowl A takes
3 hours on machine and 4 units of raw materials.
Each bowl B takes 2 hours on machine and 1 unit of raw materials.
In any week the factory has only 42 machine hours and 36 units of raw materials

available.

16 x of bowl A and y of bowl B arc produced cach week, write down (¥
inequalities in x and y (other than x=0 and y = (),

(i) Tilustrate these inequalities on a graph.

(ii) If the profit on each bowl A is IR£14 and on bowl B IR£9, calculate how
many of each should be produced cach week to maximize profits




